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What is the name of a group of chemicals that speed up a chemical reaction?

catalysts
galvanizers
oxidising agents
reducing agents

(ol @Rvelh

The diagram represents a scale found on a centimetre rule.

What is the value indicated by the arrow?
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A 0.41 cm
B 0.42 cm
C 4.10 cm
D 4.20 cm

The reading on a thermometer indicates the temperature of a boiling liquid is 101°C,

Which liquid could the thermometer have been placed in?

liquid purity
A ethanol pure
B methane pure
C propane impure
D water impure

A sample of water is heated from —10°C to 110°C in a 15 minute period.

How many single states of matter and how many mixed states of matter will the water undergo?

single states mixed states
A 2 5
B 2 3
C 3 2
D 3 0



How is the number of neutrons determined for any atom?

adding the number of protons to the mass number
doubling the atomic number

equals the number of electrons

subtracting the number of protons from the mass number

oaow»>

Where on the Periodic Table would the element with the electronic configuration 2, 8, 3 be found?

A Group I1

B Group VIII/O

c Period 3

D Second Period and Group II1

In the Bohr model of an atom, how many orbits are needed to hold silicon’s 14 electrons?

gaw>
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Carbon dioxide molecules with slightly different masses have been found.

Which factor accounts for this mass variation?

A allotropes

B isomers

C isotopes

D states of matter

What is the total number of electrons found in a water molecule?

A 2
B 8
C 10
D 18



The list below contains the names of the four different types of chemical bonds. Use this information to
answer questions 10 to 12. The choices may be used once, more than once or not at all.

A covalent
B dative

C ionic

D metallic

Which type of bond is formed when

10. hydrogen and oxygen bond to form water; A. B C D
11. the lattice structure of NaC/ is formed; A. B C D
12. ammonia bonds with a fourth hydrogen

to form the ammonium ion? A B C D

13. What is the amount in moles, of NaOH, found in 32 g of NaOH?

A 0.80 moles
B 1.25 moles
C 40 moles
D 1 280 moles
14. What is the relative molecular mass of H,80,?
A 3
B 7
C 48
D 98
15. Which element can be found in the form of a diamond?
A carbon
B krypton
C potassium
D silver



16.

17:

18.

19.

20.
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What is the molecular formula of a compound with the structural formula CH,CH,CH,?

A CH
B 3C,H
C C,H,
D (CH,),CH,

How many moles of oxygen gas are needed to balance the combustion reaction of one mole of
butane?

C,H,, + X0, — 4CO, + SH,0

A V2
B 5
C 62
D 9

What is the molecular formula of a hydrocarbon with an empirical formula of CH; and an M, of
30?7

A CH,
B C,H,
C C,H,
D C.H,,

Hydrogen bromide gas dissolves in a liquid and ionises to produce hydrogen ions as the only
positive ions in a liquid.

Which liquid causes hydrogen bromide gas to ionise?

A acetone

B methylbenzene
C toluene

D water

Which statement about an acid is true?

forms water with an alkali

pH is >7

forms negatively charged hydronium ions in water
is a non-electrolyte

oOw>



When copper reacts with hot concentrated sulfuric acid it produces copper sulfate.
Which other products are formed?

hydrogen gas only

water only

water and sulfur dioxide gas
water and hydrogen gas

(wil@erih-2

Which salt remains when a solution of H,SO, is titrated with a solution of Ca(OH),?

calcium hydroxide
calcium oxide
calcium sulfate
calcium sulfite

oW

The table shows the colours that Universal Indicator becomes when added to four different
solutions.

Which row in the table correctly matches the colour of the indicator and the solution?

name of solution colour of Universal Indicator
A | nitric acid blue
B | potassium nitrate green
C |sodium hydroxide yellow
D | ammonia solution red

Which ion is indicated by a blue-green colour in a firework display?

A Cu?*
B Ba?*
- Na*

D Ca?t
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Use the list of gases to answer questions 25, 26 and 27. The choices can be used once, more than once or

not at all.
A ammonia
B hydrogen chloride
(8 sulfur dioxide
D chlorine
Which gas
25. turns moist red litmus blue; A B CcC D
26. forms dense white fumes with ammonia gas; A B C D
27. turns moist blue litmus red and then bleaches it? A B C D
28. What is the name of the process by which electricity is used to bring about a chemical change?
A corrosion
B electrolysis
C oxidation
D voltage
29. Which change occurs to the ion at the anode during electrolysis?
A reduction
B oxidation
C gains electrons
D gains mass
30. This reaction is part of the contact proccss.

250, + 0,= 250,
What happens if the amount of SO, is increased?

0, increases and SO, increases
O, decreases and SO, decreases
O, increases and SO, decreases
O, decreases and SO, increases

oOw»
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31.

32.

33.
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What is a change in concentration of either a reactant or product over a period of time called?

reaction rate
reactant concentration
product concentration
state change

OOQwW>»

Zinc is less reactive than magnesium.
What is the reactivity relationship between zinc and magnesium?

Magnesium can displace zinc ions from zinc compounds.
Zinc can displace magnesium from magnesium compounds.
Magnesium is lower than zinc in the reactivity series.

Zinc is a stronger reducing agent than magnesium.

O0Owx»

Which of these statements does not describe what happens during a redox oxidation?

a decrease in oxidation number

a loss of protons

a gain of oxygen

a loss of hydrogen by a covalent molecule

OQwy»
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Use the table to answer questions 34 and 35.

The table shows the products formed at the anode and the cathode during electrolysis.

compound electrolysed product at product at carbon
carbon anode cathode
A | molten lead bromide bromine lead
B | potassium nitrate solution oxygen hydrogen
C |concentrated sodium chloride solution oxygen hydrogen
D | copper sulfate solution oxygen copper

Which row in the table shows an

34. incorrect product at one of the electrodes; A B < D

35. electrolysed compound which did not produce hydroxide ions? A B C D

36. Magnesium metal is made by the electrolysis of molten MgCl,. One of the half-reactions is shown.
Mg?* + 2e” — Mg

Which statement about the electrolysis of molten MgC/, is correct?

A magnesium is made at the cathode.
B magnesium ions are oxidised.
C chloride ions are reduced at the anode.
D chloride ions gain electrons during the process.
37. Which pollution problem can be caused by the ammonia, NH; produced by burning fossil fuels?
A acid rain
B eutrophication
c global warming
D depletion of the ozone layer
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The diagram shows the structural formula of ethane.

H H

H H
The electronic configuration of C is 2, 4 and H is 1.

How many covalently bonded electrons surround each carbon atom in the above structure?

Tawx»
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What is the correct order of the following hydrocarbons in terms of increasirig boiling points?
propane C,H, methane CH, and ethane C,H

methane, propane, ethane
ethane, methane, propane
methane, ethane, propane
ethane, propane, methane

Cowx»

Which name is given to a series of compounds that differ from each other by a fixed repeating unit?

heterogeneous series
homologous series
homogeneous series
hydrocarbon series

SOow>»



41.

42.

43.
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Dilute acetic acid, commonly known as vinegar, is the second smallest carboxylic acid.

Which choice correctly matches the correct formula and name for this acid?

acid name formula

ethanoic CI—I3COOH

hydrochloric | HC/
methanoic CHOOH
methanoic CHO,H

g|lo|w]| >

Which pair shows two elements which are liquids at room temperature and pressure?

bromine and mercury
chlorine and water
fluorine and silver
oxygen and zinc

oWy

Which element in the Periodic Table has an allotrope that is capable of conducting
electricity?

A carbon
B chlorine
C oxygen
D sulfur
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Questions 44 and 45 are about the refining of petroleum.

44, Which method is used to obtain lubricating oil from crude 0il?
A centrifugation
B chromatography
i filtration
D fractional distillation

45. Lubricating oils undergoes additional processing to obtain larger amounts of the more valuable
hydrocarbons.

What is the name of this process?

A cracking
B esterification
C hydrolysis
D polymerisation
46. Which compound is an unsaturated hydrocarbon?
A ethane
B ethene
C ethanoic acid
D ethyl methanoate
47. Blanco Bleach is a Bahamian company.

Which element is needed in large quantities by Blanco to make bleach?

A bromine
B chlorine
C fluorine
D iodine



48.

49.

50.
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Carbon dioxide emissions have steadily increased since the start of the industrial age. As a result,
the carbon dioxide in the Earth’s air has increased by approximately 20%.

What are the effects of this change?

acid rain

global warming
both of the above
none of the above

oOw>

Which ore is aluminum metal extracted from?

A aragonite
B bauxite

C galena

D haematite

Iron is extracted from its ore using a blast furnace.
Which form of iron is extracted from the blast furnace?

impure pig iron
pure liquid iron
solid iron nuggets
stainless steel iron

oaOw>»
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